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MGSE-006 : GENDER, RESOURCES AND 
ENTITLEMENTS 

Time : 3  Hours    Maximum Marks : 100 

Note : (i)  Answer any five of the following 

questions.   

 (ii) All questions carry equal marks. 

 (iii) Write each answer in not more than 

1000 words. 

1. (a) What constitutes a resource ?  10 

(b) Define and differentiate social security 
entitlements and entitlements that get 
through market exchanges. Give suitable 
examples. 10 
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2. (a) Where do you place welfare approach in 

gender and development discourse ? 

Explain. 10 

(b) Writ an essay on the feminist’s critique of 

welfare approach. 10 

3. List various types of participation in gender 

analysis observed in the field. Discuss in detail. 

20 

4. Write an essay on Hindu Succession Act, 1956 

and amendments introduced in 2005. 20 

5.  Describe relationship between women  

and environment in detail with suitable 

examples.  20 

6. (a) What are the major reasons for un-

sustainability ? Explain. 10 

(b) How does un-sustainability affect lives and 

livelihoods of women ? Discuss. 10 

7. What is social enterprise ? Explain the features 

of social enterprise with suitable examples. 20 
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8. Write short notes on any four of the following : 

4 × 5 = 20 

(a) Human Rights Framework 

(b) Community participation and gender 

(c) Mitakshara 

(d) Property rights of Christian women 

(e) Tragedy of commons 
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,e- ,- (ts.Mj ,oa fodkl vè;;u) 

(,e- ,- th- Mh-) 

l=kkar ijh{kk 

twu] 2021 

,e- th- ,l- bZ--006 % tsaMj] lalk/u ,oa gdnkfj;k¡ 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % (i) fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj 

nhft,A  

 (ii) lHkh iz'uksa ds vad leku gSaA 

 (iii) izR;sd iz'u dk mÙkj yxHkx 1000 'kCnksa esa 

nhft,A 

 

1- (d)  lalk/u dk xBu dSls fd;k tkrk gS \ 10 

([k)  lkekftd lqj{kk] lalk/u vkSj gdnkjh dh 

ifjHkk"kk nhft, vkSj cktkj fofue; ds ljksdkj 

esa] buds chp ds vUrj dks] mfpr mnkgj.k nsrs 
gq, Li"V dhft,A 10 
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2- (d)  tsaMj ,oa fodkl ds laokn esa dY;k.kdkjh 

n`f"Vdks.k dks vki dgk¡ j[krs gSa \ Li"V 

dhft,A 10 

([k)  dY;k.kdkjh n`f"Vdks.k dh ukjhoknh leh{kk ij 

,d fucU/ fyf[k,A 10 

3- fdlh dk;Z&{ks=k esa izsf{kr tsaMj ds fo'ys"k.k esa fofo/ 

izdkj dh lgHkkfxrkvksa dh lwph cukb,A viuk mÙkj 

lfoLrkj fyf[k,A 20 

4- fgUnw mÙkjkf/dkj vf/fu;e] 1956 vkSj bl lEcU/ esa 

o"kZ 2005 esa is'k la'kks/uksa ij ,d fucU/ fyf[k,A 20 

5- efgyk,¡ ,oa i;kZoj.k ds lEcU/ dk o.kZu] mfpr 

mnkgj.k nsrs gq, dhft,A 20 

6- (d)  vLFkkf;Ro (un-sustainability) ds eq[; 

dkj.k dkSu&ls gSa \ o.kZu dhft,A 10 
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([k)  vLFkkf;Ro efgykvksa ds thou vkSj vkthfodk 

nksuksa dks dSls izHkkfor djrk gS \ ppkZ  

dhft,A 10 

7- lkekftd m|e D;k gS \ lkekftd m|e dh 

fo'ks"krkvksa dk o.kZu] mfpr mnkgj.k nsrs gq, dhft,A 

      20 

8- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4 × 5 = 20 

(d)  ekuokf/dkj <k¡pk 

([k)  leqnk; lgHkkfxrk ,oa tsaMj  

(x)  ferk{kjk 

(?k)  bZlkbZ efgykvksa ds lEifÙk vf/dkj 

(Ä)  Vª StsMh vkWiQ dkWeUl 
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